Bid #OPN2116590B1 - Clay Targets

Start Date Mar 26, 2018 4:21:11 PM EDT Awarded Date Not Yet Awarded

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Alberto Zaltzberg	First Offer - \$11.00	14868 / case	\$163,548.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Non-toxic Environmentally friendl Can be used in hand se		nines	
Geiser Guns, Inc.	First Offer - \$11.72	14868 / case	\$174,252.96		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Crow Shooting Supply	First Offer - \$11.82	14868 / case	\$175,739.76		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode: WFOT		
The Tools Man, Inc.	First Offer - \$14.19	14868 / case	\$210,976.92		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Mini	ode: 85530 mum required is 63 case	es per order	

OPN2116590B101-02 White Flyer Pheasant/Sporter Target					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Geiser Guns, Inc.	First Offer - \$11.87	63 / case	\$747.81		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Crow Shooting Supply	First Offer - \$11.97	63 / case	\$754.11		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode: WFOTSC		
The Tools Man, Inc.	First Offer - \$14.39	63 / case	\$906.57		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Mini	ode: 85805 mum required is 63 case	es per order	
Alberto Zaltzberg	First Offer - \$20.00	63 / case	\$1,260.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Non-toxic Environmentally friendl Can be used in hand se		nines	

OPN2116590B101-03 White Flyer Midi - Sporting Clays						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Geiser Guns, Inc.	First Offer - \$11.57	168 / case	\$1,943.76		Υ	
		Supplier Product Code: Supplier Notes:				
Crow Shooting Supply	First Offer - \$11.67	168 / case	\$1,960.56		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode: WF90OT			

The Tools Man, Inc.	First Offer - \$13.79	168 / case	\$2,316.72		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Mini	ode: 85497 mum required is 84 cases	s per order	
Alberto Zaltzberg	First Offer - \$23.00	168 / case	\$3,864.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Non Environmentally friendl Can be used in hand se	-toxic	ines	

OPN2116590B101-04 Clay Targets: Mir	ni Sporting Clays				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Geiser Guns, Inc.	First Offer - \$19.57	35 / case	\$684.95		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Crow Shooting Supply	First Offer - \$19.67	35 / case	\$688.45		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	upplier Product Code: WF60AO upplier Notes:		
The Tools Man, Inc.	First Offer - \$25.19	35 / case	\$881.65		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Mini	mum required is 90 case	s	
Alberto Zaltzberg	First Offer - \$29.00	35 / case	\$1,015.00	Υ	Υ
Product Code: Agency Notes:		high overhead to simul usually requires a full c	a 60mm or Mini, is a very ate high-flying doves. V hoke. With proper alignr lay standard, the Dove o	ery difficult nent agains	to hit and st the

OPN2116590B101-05 White Flyer Battue Sporting Clays, 5-Stand, & FITASC						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Geiser Guns, Inc.	First Offer - \$19.47	189 / case	\$3,679.83		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Crow Shooting Supply	First Offer - \$19.57	189 / case	\$3,698.73		Υ	
Product Code: Agency Notes:		Supplier Product Code: WFBATO Supplier Notes:				
The Tools Man, Inc.	First Offer - \$25.19	189 / case	\$4,760.91		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Mini	ode: 85700 mum required is 63 case	es		
Alberto Zaltzberg	First Offer - \$30.00	189 / case	\$5,670.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

OPN2116590B101-06 White Flyer Rabbit Sporting Clays, 5-Stand, & FITASC					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Geiser Guns, Inc.	First Offer - \$12.47	648 / case	\$8,080.56		Υ
Product Code:	de: Supplier Product Code:				

Broward	County	Board	of
County	Commis	ssioner	s

Agency Notes:		Supplier Notes:	3.1	
Crow Shooting Supply	First Offer - \$12.57	648 / case	\$8,145.36	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode: WFRABO	
The Tools Man, Inc.	First Offer - \$15.19	648 / case	\$9,843.12	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Mini	ode: 85495 imum required is 54 cases per o	rder
Alberto Zaltzberg	First Offer - \$50.00	648 / case	\$32,400.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	

OPN2116590B101-07 White Flyer Standard Biodegradable Sporting Clays					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Geiser Guns, Inc.	First Offer - \$10.92	1260 / case	\$13,759.20		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Crow Shooting Supply	First Offer - \$11.02	1260 / case	\$13,885.20		Υ
Product Code: Agency Notes:		Supplier Product Code: WFAOBIOSC Supplier Notes:			
The Tools Man, Inc.	First Offer - \$12.89	1260 / case	\$16,241.40		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Mini	ode: 85610 mum required is 63 case	es per order	
Alberto Zaltzberg	First Offer - \$50.00	1260 / case	\$63,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Supplier Totals		
f Geiser Guns, Inc.	\$203,149.07 (7/7 items)	
Bid Contact Patric Geiser geiserguns@yahoo.com Ph 570-286-1572	Address 170 Lenker Avenue SUNBURY, PA 17801	
Agency Notes:	Supplier Notes: Head	Attch:
f Crow Shooting Supply	\$204,872.17 (7/7 items)	
Bid Contact Shane Naylor shane.naylor@crowshootingsupply.com Ph 336-751-0703	Address MOCKSVILLE, NC 27028	
Agency Notes:	••	ead tch:
f The Tools Man, Inc.	\$245,927.29 (7/7 items)	
Bid Contact Trina Gonzalez customercare@thetoolsman.com Ph 954-581-2546	Address 5500 SW 48th ST Suite B Davie, FL 33314	

Supplier Notes:

Head Attch:

Fax 954-495-9376

Qualifications CBE DBE MBE SB SBE SBE/CBE APPLICATION

Supplier Code VC0000110443

Agency Notes: